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(1) X®IST18E (Bah)
1 ZlE 2,606 295 287 8 7 1 1 0 0 0 5 1 11.3 2.7 87.5 0.34 0.0 - 12.5 0.0 12.5
6 BHmEh 23,536 46 37 9 9 6 1 0 0 0 2 0 0.2 19.6 100.0 2.17 0.0 - 111 0.0 0.0
7 ERREITH 5,184 131 124 7 6 3 0 0 0 0 3 0 2.5 5.3 85.7 0.00 - - 0.0 14.3 0.0
20 PIJ1IHE] 88 2 2 0 - - - - - - - 2.3 0.0 - - - - - - -
Aast 31,414 474 450 24 22 10 2 0 0 0 10 1 1.5 5.1 91.7 0.42 0.0 - 8.3 4.2 4.2
(2) X>RIFTMeE+1RA2
12 EEH 538 15 15 0 - - - - - - - 2.8 0.0 - - - - - - -
13 #&HT 210 9 8 1 1 0 0 0 0 0 1 0 4.3 11.1 100.0 0.00 - - 0.0 0.0 0.0
a5t 748 24 23 1 1 0 0 0 0 0 1 0 3.2 4.2 100.0 0.00 - - 0.0 0.0 0.0
(3) IEBERIRE (BH)
1 SlEm 158,895 8,832 8,650 182 166 14 26 1 1 4 122 16 5.6 2.1 91.2 0.29 3.8 100.0 14.3 0.0 8.8
9 xUmmM 210 0 - - - - - - - - - - 0.0 - - - - - - - -
13 #&H] 222 2 2 0 - - - - - - - - 0.9 0.0 - - - - - - -
24 =TiRE] 4,730 205 203 2 1 1 0 0 0 0 0 1 4.3 1.0 50.0 0.00 - - 0.0 0.0 50.0
26 Ty 3EHT 1 1 1 0 - - - - - - - -| 100.0 0.0 - - - - - - -
ast 164,058 9,040 8,856 184 167 15 26 1 1 4 122 17 5.5 2.0 90.8 0.29 3.8 100.0 14.1 0.0 9.2
(4) HA%Z (B59)
4 Heamh 4,764 124 124 0 - - - - - - - - 2.6 0.0 - - - - - - -
a5t 4,764 124 124 0 - - - - - - - - 2.6 0.0 - - - - - - -
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(5) WEII I+ ERBERRE
1 Zl&m 68,107 6,713 6,530 183 168 16 30 14 6 13 109 0 15 9.9 2.7 91.8 0.45 46.7 42.9 16.4 0.0 8.2
2 #pipmh 55,758 1,880 1,784 96 89 11 16 11 1 1 61 1 6 3.4 5.1 92.7 0.85 68.8 9.1 16.7 1.0 6.3
3 EfEH 42,399 1,898 1,829 69 66 11 7 3 0 0 48 1 2 4.5 3.6 95.7 0.37 42.9 0.0 10.1 1.4 2.9
4 HEg™ 16,984 1,645 1,483 162 133 62 7 2 0 1 63 0 29 9.7 9.8 82.1 0.43 28.6 0.0 4.3 0.0 17.9
5 /K 15,862 856 823 33 28 3 8 3 1 3 14 2 3 5.4 3.9 84.8 0.93 37.5 33.3 24.2 6.1 9.1
6 BEm 23,536 1,816 1,737 79 76 15 9 6 1 0 52 2 1 7.7 4.4 96.2 0.50 66.7 16.7 11.4 2.5 1.3
8 P& 11,986 693 672 21 21 3 6 5 1 5 7 0 0 5.8 3.0 100.0 0.87 83.3 20.0 28.6 0.0 0.0
9 XU 3,611 189 182 7 7 1 3 2 0 1 2 0 0 5.2 3.7 100.0 1.59 66.7 0.0 42.9 0.0 0.0
10 =f%HT 4,152 251 237 14 13 1 1 1 0 0 11 0 1 6.0 5.6 92.9 0.40 100.0 0.0 7.1 0.0 7.1
11 SEH 4,027 154 147 7 7 6 0 0 0 0 1 0 0 3.8 4.5 100.0 0.00 — — 0.0 0.0 0.0
12 EEH] 7,853 1,205 1,162 43 42 7 3 2 1 0 32 0 1 15.3 3.6 97.7 0.25 66.7 50.0 7.0 0.0 2.3
13 HEHT 2,713 449 409 40 10 0 4 3 1 0 6 0 30 16.5 8.9 25.0 0.89 75.0 33.3 10.0 0.0 75.0
14 SiEHE] 7,090 528 515 13 13 2 2 1 0 0 9 0 0 7.4 2.5 100.0 0.38 50.0 0.0 15.4 0.0 0.0
15 ¥=H] 5,513 736 724 12 9 1 3 3 0 1 4 0 3 13.4 1.6 75.0 0.41 100.0 0.0 25.0 0.0 25.0
16 FEREA 431 132 129 3 2 1 1 1 0 0 0 0 1 30.6 2.3 66.7 0.76 100.0 0.0 33.3 0.0 33.3
17 AtsgHE] 2,042 196 192 4 3 2 1 1 0 0 0 1 0 9.6 2.0 75.0 0.51 100.0 0.0 25.0 25.0 0.0
18 JIIFaf] 5,453 589 582 7 7 1 1 1 0 0 5 0 0 10.8 1.2 100.0 0.17 100.0 0.0 14.3 0.0 0.0
19 #PEME] 3,752 140 124 16 16 6 0 0 0 1 9 0 0 3.7 11.4 100.0 0.00 - - 0.0 0.0 0.0
20 P9)11ET 6,163 351 332 19 19 8 3 2 0 0 8 0 0 5.7 5.4 100.0 0.85 66.7 0.0 15.8 0.0 0.0
21 FEHA 658 122 115 7 6 0 1 1 1 0 5 0 1 18.5 5.7 85.7 0.82 100.0 100.0 14.3 0.0 14.3
22 HEEAR 1,060 246 239 7 6 0 0 0 0 0 6 0 1 23.2 2.8 85.7 0.00 - - 0.0 0.0 14.3
23 ESEpET 2,170 320 308 12 11 4 1 1 0 0 6 1 0 14.7 3.8 91.7 0.31 100.0 0.0 8.3 8.3 0.0
24 STFEE] 4,312 560 540 20 20 10 4 3 1 0 6 0 0 13.0 3.6 100.0 0.71 75.0 33.3 20.0 0.0 0.0
25 Bz 844 188 180 8 7 1 0 0 0 0 6 1 0 22.3 4.3 87.5 0.00 - - 0.0 12.5 0.0
26 HRAFEET 1,429 189 185 4 4 2 0 0 0 0 2 0 0 13.2 2.1 100.0 0.00 - - 0.0 0.0 0.0
=r-11 297,905 | 22,046 | 21,160 886 783 174 111 66 14 26 472 9 94 7.4 4.0 88.4 0.50 59.5 21.2 12.5 1.0 10.6
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